75| 70| 65| 60| 55| 50| 45| 40| 35 30‘ 25‘ 20‘ 15‘ 10‘ 5
CT 00s - 16s ==> 25pts
CT 16s - 17s ==> 22pt istance tests:
95 CT 172 - 18: ==> 20&2 Eatteral Ie;d-tnut 95
CT 190 - 200 = 15008 Diection change
90 g$ ;gz ) gg: —— 122:2 Independent weave poles, both inside and outside approach 90
g$ g?,s ) ggs ==> 1;p:S Non-distance tests:
s - 28s ==> s e -
85 OT 285 - 308 == 7&3 Discrimination between like obstacles 85
CT 32s - 35s ==> 5pts
80 80
75 75
70 O © 70
65 ><’ Ry 13— / 65
v \
60 ( / / 60
4
55 \ / 55
~ (o
50 \ ) 50
e 4 8 \
45 . . 45
40 . Bonus : 40
] Bbx +15pt 3
35 ~ \ 35
! 3
30 30
- /
25 7\_,/ [ 25
11)
20 20
N
15 () 12— 15
10 10
5 5

75

70

65

60

95

50| 45| 40

35| 30

25

20

15

10




